(No.1)

5
200
Im 4m 90
B 2.5 40
B 2.5 2
30
60
110
1000kg/ 15
1000kg/ 2000kg/ 22
W400><h1000-L2000 3
6
W400><h1000-L1500 ( ) 1
1.5
W400><h1000-L 786 ( ) 1
0.8
W400><h1000-L1151 ( ) 1

1.2




(No.2)

W400><h1000-L1774 ) 1
1.8

W400><h1100-L2000 10
20

W400><h1100-L1000 1
1

W400><h1100-L 535 ) 1
0.5

W400><h1100-L 935 ) 1
0.9

W400><h1100-L1294 ) 1
1.3

W300><h1000-L2000 1
2

B400-L2000 10
B400-L1500 1
B400-L1000 1
-L 786 1
-L1151 1
-L1774 1
-L1294 1




(No.3)

5
B400-L 535 1
-L 935 1
B400-12000 3
B300-L1000 2
18N/mm2 Co m 2
18N/mm2 m 0.1
m 0.4
RC-40,t=150 m? 9
RC-40,t=200 m? 17
PRPp150 m 63
RC-40, =356 m2 34
PRPp150 ,90< 2
PRPp150 ,60< 1
,p300,T-25 2
,p300,T-8 1
RC-40, =100 m2 0.8
ock 18N/mm2 m3 0.3
m2 2.7
RC-40 m2 1.0
4.0




(No.4)

3-3 2
3-4 1
1:3 1

1
As,t=50 74
RC-30,t=100 74
10
B 2.5 10
500><500 3
4
1
As =50 79
As =50 162
Co 1
As 4
Co +As 12




0 0 0
0.9 0 0 0 1.00
60 60
0.9 60 60 50
0 0
0.9 0 0 0 0>=<1.00
60 60
0.9 60 60 60 - 0




210 190 140
0.9 210 190 140 190/190=1.00
200
90
40
0
10
10
210 140
190 140 50+0=50( )
190 140 190-140=50




200.5 m3
= 160.7
= 39.8
1m 4m 94.9 m3
= 94.9
2.5 35.9 m3
= 11.8
= 24.1
2.5 2.4 m3
= 2.4
29.4 m2
9.05 16.64 = 25.7
3 0.80m><0.80m>=<3 = 1.9
2 0.524m>=<0.524m>=<3 = 0.8
1 0.7m><(0.71m+0.70m) = 1.0




Im 4m B 25 B 25

(m)
No. +  7.963 — 3.8 — — 2.6 — — 0.0 — — 0.0 — — No.1
No. + 13.364 5.625 3.8 3.80 21.4 1.4 2.00 11.3 1.0 0.50 2.8 0.2 0.10 0.6 |No.1
No. 6.636 3.8 3.80 25.2 1.4 1.40 9.3 1.0 1.00 6.6 0.2 0.20 1.3
No. + 2.350 2.350 3.8 3.80 8.9 1.4 1.40 3.3 1.0 1.00 2.4 0.2 0.20 0.5 |No.1

14.611 55.5 23.9
No. + 14.678 — 4.3 — — 2.9 — — No.4
No. 5.645 4.3 4.30 24.3 2.9 2.90 16.4
No. + 18.842| 18.820 4.3 4.30 80.9 2.9 2.90 54.6 No.4

24.465 105.2 71.0

CAD
m m3 m3 m3 m3
39.076 160.7 94.9 11.8 2.4




im

NO.2+3.86 — 0.7 — — 0.4 — —
NO.2 7.1 0.8 0.75 5.3 0.5 0.45 3.2
NO.2 7.1 0.6 0.70 5.0 0.3 0.40 2.8
NO.3 19.9 0.6 0.60 11.9 0.4 0.35 7.0
NO.4 20.0 0.6 0.60 12.0 0.4 0.40 8.0
NO.4+1.78 1.6 0.7 0.65 1.0 0.4 0.40 0.6
NO.4+1.78 7.1 0.6 0.65 4.6 0.3 0.35 2.5
62.8 39.8 24.1
m m3 m3
62.8 39.8 24.1




(

1) s=1:50

1.758

TP=-5.000

1-NO.1
792
FH=1.807
s 2750 2750 500 2200
Fi=1.807 1.828
£
1.028 W\ 0.704

200

\ oo

1-N0.1
3.8

n4n 1.4
n B

B 2.5 1.0
B 2.5 0.2




&)

( 2) s=1:50

2-NO.3

GH=1.969
FH=1.973

2457 549 3783 2750 440,
1 2-N0.3
- 0.6
1.873 FH=1.973 in 4n B
| n -
- 8 2.5 0.
— 1.5% R_1.sk [ 5 2.5 .
* Ve
o [ | 3 B
L ‘ _0.089
1.078 i
o)
©200
GH=1.920
FH=1.954
2200 500, 2750 2750 498
1.925
&)
- — o 1.5% —
. T N
E 3 2 =
I B 36— ot
tui
7 1.048
1.138
2-N0.2
1.5
in 4n -
©200 ™ .
B 2.5 0.8
B 2.5 -

TP=-5.000




( 3) s=1:50

2-N0.4+1.8
GH= —
FH=1.901
2200 500, 2750 ‘ 2750 ,506_,
|
. 1.844 ‘ FH=1.901 ot s
(@) — | -NO. 441
—_— — -3 0.7
1in 4n -0 -
n N .
©) B 2.5 0.4
& 8 25 -
®200
TP=-5.000
2-NO.4
GH=1.959
FH=1.906
2200 500 2750 ‘ 2750 506
|
(75) 1.849 ‘ FH=1.906
ZE) 1/
— — I — 1.5% - 1.5% | 2-N0.4
— i S . T
[ f A 77 © LD‘
S 2 0.6
) i} | 2k — :
g \ 0 :
i O i B 2.5 - 0.4
| 0.929 52 E - -

TP=-5.000




NO.2+3.86

2.105

NO.4+1.78

1.849

\__ 0.902




1.0

1000kg/

1000kg/ 2000kg/

FNV1

FNV2

FOsE1

No. 0 7.96 No. O 9.68
No. 0 10.34 No. 0 19.65
No. 1 0.35 No. 1+ 2.35
No. 3 14.68 No. 3+ 18.71
No. 3 19.37 No. 4+ 18.84

1000kg/ 2000kg/
FNVL WA00><h1100  2.00m><10
FNV2 W300><h1000  2.00m>< 1

36.97m 22.00m

W400><h1000 L2000
L1500
L 786
L1151
L1774
W400><h1100 L2000
L1000
L 535
L 935
L1294
W300><h1000 L2000

B400 L2000
L1500
L1000
L 786
L1151
L1774
L1294

L=1.77
L=9.44
L=2.00
L=4.29
L=19.47

36.97m

= 20.00

=2.00

22.00m

14.97 m

22.00 m

N = )

O O O O O O o o o o o

10.

L

10.

e e )
O OO0 O o o o




FOsE1 B400 L 535 1.0
L 935 1.0
FOsEG1 B400 L2000 3.0
B300 L1000 2.0
18N/mm2 1.5 m3
18N/mm2 0.12 m3
W300 0.600><0.100><2.000m =0.120
0.10><2 >2.000m 0.40 m2
RC-40,t=150 h1000 9.05 m2
W300 0.600><2.000m =1.200
W400 0.700><(9.437m+1.774m) = 7.848
RC-40,t=200 h1100 16.64 m2
W400 0.700><(4.294m+19.470m) = 16.635
3-3
NK 500><500><H1200) 2.0
No. 0 10 N=1.0
No. 1 N=1.0
3-4
NK 500><500><H1400 1.0

No. 3 19 N=1.0




1 NO.2+0.00 NO.4+1.78 L= 62.81 62.81 m
PRP¢p150
0.536m><62.81m = 33.67 33.67 m2
RC-40,t=356
1 NO.2 N=1
PRP¢p150 NO.4+1.78 N=1
2 NO.2 N=1
PRP¢p150
,(@300,T-25 No.2 No.4+1.78 N= 2
,@300,T-8 NO.2 N=1
0.524m><0.524m><3 =0.82 0.82 m2
RC-40,t=100
1 ( NO.1+19.65 NO.2+0.35 L= 0.71m 1.41 m
NO.4+1.43 NO.4+2.13 L= 0.70m
0.20><1.41m 0.28 m3
ock 18N/mm2
1.90><1.41m 2.68 m2
0.70><1.41m 0.99 m2
RC-40
2 x2 4




@) @) @) co
C - C )
Fvv2 [JEEEEN n 1000 0.072 0.066 2 > 0.300 =< 2.000 = e 0.041
h 2 > > = m 0.000
WA00 h 1000 0.081 0.001 2 > 0.400 =< 3.500 = e 0.120
W400 h 1000 0.001 0.061 2 > 0.400 < 3.937 - e 0.120
WA00 h 1000 0.061 0.077 2 > 0.400 =< 2.000 = e 0.055
W400 h 1000 0.077 0.061 2 > 0.400 =< 1.774 - e 0.049
WA00 h 1100 0.161 0.122 2 > 0.400 < 4.204 = e 0.243
WA00 h 1100 0.122 0.109 2 < 0.400 < 4.584 - e 0.212
WA00 h 1100 0.109 0.078 2 > 0.400 < 2.000 = e 0.075
WA00 h 1100 0.078 0.061 2 < 0.400 = 12.886 - e 0.358
NK
555 h 1200 0.050 0.050 2 > 0.500 < 0.500 = e 0.025
5%5  h 1400 0.050 0.050 2 > 0.500 < 0.500 = e 0.013
h 2 X > = me 0.000
- - e 0.00730 = ) R 0.000
h @ = mm / > = m 0.000
WA00 h | 1000| 2 - mm 0.00730 / =< 11.211 - e 0.041
WA00 h 1100 |2 - mm 0.00910 / < 23.764 - e 0.108
h t2 = mm / > = m 0.000
W500 h 1100 |2 - mm 0.01950 / = = i 0.000
h t2 = mm / > = m 0.000
Fv2 |00 h t2 = mm 0.01090 7 =~ 200 =] 0.011
Fv2 | W400 © = mm 0.01090 / = - e 0.000
Fwv2 [W500 h © = mm 0.02340 / = = e 0.000
h 0 = mm / > = m 0.000
m 1.5




3-3

NO.
700 700
100 500 1100 45| 55 500 55 |45
g ‘ ‘ 0
‘A‘h-u"q —_—
b '
[
! ( Sl 8
. e} ~
' Lo
"'_7_/\\\\\\ —-§ 8 a
g —
J 18N/mn’
T-25 %
7 oy
18N/mm . L §
" eobes
g
RE-30 50 700 50
800
1.0
500><500><H1200 1.0
18N/mm?2 0.800><0.800><0.100 = 0.064 m3 0.064
0.80>4><0.10 = 0.320 m2 0.32
RC-30,t=100 0.80><0.80 = 0.640 m2 0.64
18N/mm?2
T-25 1.0




3-4

NO.
700 700
100 50 . [100 45|55 500 5545
g | | 10
b /
[
! ( Sl 8
. re) ~
i {
. — Vs
L J o
: = gl &
/ 2 I
T-25 18N/’
£
18N/mn? By
° O o §
D oars
8
RC-30 3
50 700 50
800
1.0
500 <500 > H1400 10
18N/mm2 0.800><0.800><0.100 = 0.064 m3 0.064
0.80>4>0.10 = 0.320 m2 0.32
RC-30,t=100 0.80><0.80 = 0.640 m2 0.64
18N/mm2

T-25

1.0




|

NO.
571
PRP150
w
(8]
(o))
A=0.19m2 500
RC-40
10.0m
PRPp150 m 10.0
RC-40,t=356
W=536 0.536m><10.0m
m2 5.36




|

NO.
(1-25)
VU300
PRP150
100|324 _|100
524 RC-40
1.0

PRP@150 ,90< 1.0
@300 1.0
@300 1.0
,300,T-25 1.0
RC-40,t=100 0.524>0.524 m2 0.27




I~

NO.
$E(1-8)
N
L
_ ‘ L VU$300
'}7%/1\%7‘/#\7»““ ‘ -
W\ J 2
EEPRPS 150
g 38 -
il | RC-40
/ I Jg \
UTRESEHE 150
0~15" DAXNE HEEILA Lo, st %0
524
1.0
PRP¢150 ,60< 1.0
@300 1.0
300 1.0
,300,T-8 1.0
RC-40,t=100 0.524>0.524 m2 0.27




|

NO.
600
150 300 150
80.70 70 80
o
g ||
o
g
ock 18N/mm2
1SS
~
o
9
00 )
9
50 600 50
700 —
RC-40
1.0m
ock 18N/mm?2 (0.60><0.55-0.30><0.40-0.07>0.10><2) > 1.00 m3 0.20
(0.55+0.30+0.10) > 1.00>< 2 m2 1.90
RC-40,t=150 0.70>1.00 m2 0.70

2.00




0.72 m3

0.02 ><12.5m
0.02 >=3.4m
0.02 ><0.8m

TU><0.25m><0.25m><0.65m
TU><0.25m>=0.25m>=0.60m
TU><0.25m>=<0.25m>=<0.67m

500

650> 650

500

650>< 650

@150

500

650> 650

0.02m’

A=

%
_

7.




1.0

As,t=50

RC-30,t=100

006

( As) t=5cm

1.2L/m2

(RC-30) t=10cm

30.9
42.8

30.9
42.8

73.7 m2

73.7 m2




(1.10m><(1.00m><1.00m+1.00m><2.10m+2.10m><

2.10m)—=-3)-(0.65m><0.65m>1.10m) = 2.3
(1.10m><(1.00m><1.00m+1.00m><2.10m+2.10m><
2.10m)—=-3)-(0.65m><0.65m>1.10m) = 2.3
(1.10m><(1.00m><1.00m+1.00m><2.10m+2.10m><
2.10m)—=-3)-(0.65m><0.65m>1.10m) = 2.3

6.9 m3

(1.00m><(1.00m><1.00m+1.00m><2.00m+2.00m><

6.9 m3

2.00m)-=-3) = 2.3
(1.00m><(1.00m><1.00m+1.00m><2.00m+2.00m><
2.00m)-=-3) - 2.3
(1.00m><(1.00m><1.00m+1.00m><2.00m+2.00m><
2.00m)—=-3) - 2.3
2100>2100 2100>2100
2000>2000 2000> 2000
""" r— L — ]
@500 @500
‘ JCW/)/%JJ ‘ ‘ JCM/)%D ‘ -
S 2
650650 650><650
2100><2100
‘ 2000>< 2000 ‘
S — S I E—A
g E
500
‘ JCWD ‘
[Te)
650> 650




3.0

500><500
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X X X o s o
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As
t=50

As
t=50

Co

As

79.3 >0.05

79.3 m2

161.5 m

1.2 m3
4.0 m3




